Residual versus local y

E - —e—— esXTO00GPst_physics 5046059.root ss (0,12]
£0.06 S
- | ——@—— resXTOO00GPst_physics_5046059.root ss (12,24]

Residual
o
o
N
I

0.02 -2 e é .....

o
_ Il $eo
P ¢ 6
O__ ................ U~. ..... e
B . : o ) &

4102:;¥ .................... é ..................... -

—p—— 1esXTOO00GPst_physics _5046059.root ss (24,36]

- ——e—— esXTO000GPst_physics_5046059.root ss (36,48]

.:mmmmmmi:. o ;*é ..... a% .....
’ ~‘..."of0~.':"."""‘\\1 *‘oﬁ"
1

-0.04 | L1 | L1
60 80 100

Fri Feb 4 11:36:13 2005

120 140 160 180
Local Y



